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Sdlejemraet : (1) Sarsg edlarrss@pd slwrs ueurd o dreTsT ereamLSaman
sfluriggls Camerera]b. &FsliLdledler Gapuilmulber amms
sansrentiiiurerilb o | anquwirgsd Csfellssean.

2) Beod g amLY ewulemar L HCW erpgeusH@EL LWaLHSS
Couar(hd. ULLM&EET eudFeusH@GL, iigsGamig(heusna@n
Quenfled LweTU(HSSe|LD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

GOy @ u@dl-1 (e uif-greurelwuad), u@H-II (e wif-alomdwud) salsseal
dlenLgamafler ellenLwiefl&saLb.
Note : Candidate should answer Part-I (Bio-Botany) & Part-II (Bio-Zoology) in separate

answer-books.

U@ - I (2_ulfl-greureiuiev) / PART - I (BIO-BOTANY)
(LG uenrger : 35) / (Marks : 35)
S1fley - I/ SECTION - I
GOy : () weuIsg HaTssEnsiEh el waflésawb. 8x1=8
i) GOGasr@ssuul(@erer wrHm eleLsalled Wb egHLenL W
devLenwig Caspos0s8515 @MU HLear alenLulamaryb Cargg
CT(LPSELD.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1. I FOLLEGPTL Fnsaile) FoomLs L (HEafle 2 6Ter Flenearser

cregmild Gummetleanmed el ssliL(hdlermer.
(<=4) eOldeflem (<= &uiflen (@) CsGevmei (FF) &Teev
In mature sieve elements, sometimes the pores in the sieve plate are blocked by a
substance called :
(a) lignin (b) suberin (c) callose (d) callus

urdl_Grélenr  eravenid  2.ullim  ergrQumrmer  THlMmBLE 2 HUSS
Qe dlerpg ?

(1) v QruGLrenwdlen < flCurCudluemen
(<=,) CuHlovavev enevetLImiTLien

(@) evl GriGLrenwdlen &Hifldwev

(rF) Guélebevev &Fligedlen

An antibiotic Bacitracin is obtained from :

(a) Streptomyces aureofaciens

(b)  Bacillus licheniformis

(c) Streptomyces griseus

(d) Bacillus subtilis

QuUrmSSI5.

(1) Gswblu wHmLD Head (@)  wry el euesLium(

(2) &Crrevev lerCGerien (i) wfGsrsenen cuansLILIT(
(3) Qupsd LHMD aDO&sT (i) CFwpens wenm euensiLIm(
(4) ermert wHMLD LAFTeRTL6d (iv) Qumnens wperm euensLiLm(p
() M)-@Gv) @-G) @)-@G @) - (i)

(=) M)-0 @-3G) @)-@Gv) @) -3

(&) -G @-@) E-G) @-0

() @)-@) (-Gv) @)-G) @-06

Match the following :

(1) Camp and Gilly (i)  Phylogenetic system

(2) Carolus Linnaeus (ii) Biosystematics

(3) Bentham and Hooker (iii) Artificial system

(4) Engler and Prantl (iv) Natural system

(@ @M-@G) @-3G) ©)-@G (@) - ()

b)) O-@ @-@@) G)-Gv) @ - >

(© @M-@G @-3G) @)-Gv) @) -0

(d @-@G) 2)-Gv) @G- @) -0
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4. grermseaid Qlredls losmsl LwaLhsgIb Curg saneflen L Ligdlser
<5 cuarrEslenw e Slarmer. Qb euamsuied Sleblyar e ﬁ}dT@JgJLb

SnsS CSTLIHG TS0 HlHpaig ereriL(pLD.
(1) M&wrem’ erms edleneray (<) Qrl® 2 p&sd
(@) Gamrwreflgger Crm (rF) Gumevigm
Plant treated with gibberellin shows sudden elongation of stem followed by flowering
is called :
(a) Richmond Lang Effect (b) Bud dormancy
(c)  Foolish seedling (d) Bolting
5. erarm Lependulled grpuBb 2 ullirGeudl Sllem LIHDEISETTL, 4ig)
flovo UOICaTT SlBISMET 2 (HeUTES (LplgeUdledena.
(1) S evuragldeaen (<) BluyCrmevGumym
(@) mCermdym (rF) Quefldlallwum
The biochemical mutants of failed to synthesize certain amino acids.
(a) Aspergillus (b) Neurospora
(c) Oenothera (d) Penicillium

6. abedwr Grflelwemallev sreursSlen @Qenasar :
(1) sTOUDDE)
(<)) SBINS 6llg6l Fal lqEneD
(@) saflsss)
(FF) eperm SbHdleneseneriyen I Jnl lqene
In Hevea brasiliensis, the leaves are :

(a) Sessile

b) Palmately lobed

—

(c) Simple
(d) Trifoliately compound
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7. G, &pnsluded, 0Garm =juflevd Seniyen 2 (HeUTdmg).
(<=1) QurrselCemid (<) BCamAed
(@) ushsmilsD (FF) evwl GLramewTigflwm
The amino acid serine is formed in during C, cycle.
(a) peroxisome (b) mesophyll
(c) chloroplast (d) mitochondria

8. safl bgé yrs 2 HusHeE Lweru(On urseflur :

10.

11.

12.

(<=1) Culevevev Fmmlerd (<=),) SD&Hedalemen
(@) er.Camenav (FF) el GriCLrenwdlen
The bacteria that is used in SCP production is :

(a) Bacillus sps. (b) Alkaligenes
(c) E-coli (d) Streptomyces

Slfley - IT / SECTION - II
Epsasramid afearmésEner eTemeuCuenid mBresdlens@ el weflssab. 4x2=8
Answer any four questions.
UILICLMIFE ETETMTEL eTemen ?

What is hardening ?

RNF FeUTFSMS UMTULIMNI&HSHELD.

Define - Photorespiration.

farar CuHCOTT eTammTed cTeme ?

What do you mean by recurrent parent ?

o Sreursdler gflwmer Cgmi@sg euemids ereueurn <emai(h QFiwiLhSng ?

Write down the formula for measuring the actual growth in the length of a plant.
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o uir Qgrpleomuellwele sreuy SH& euerrliy wem W& P& EHwwnTer
wereiflenn Qumib Mledlwed glempwrs eSlermi@GHng. sreur $l& euermliber
Dlg LML &(HSSHISEMET 6T (LDG)IS.

Plant tissue culture has become a major thrust area in plant biotechnology. Name the
basic concepts involved in it.

g fligCad e Canssriermii(h. Spssear. QuHGorfalmbg F,
sl uiflenw sewTLHls.

CQuOCprT  1gflligsb GuUrD X 8Cgen HfGwed
2n = 28 2n = 14

N,

Triticale is a hexaploid. How will you derive F, hybrid from the following parent ?

Parent Triticum durum X Secale cereale

2n = 28 2n = 14

\\ 4

Slfley - III / SECTION - III

Epsaranb afammssaies gCHEID eperim ellanTésErd@ ellenwefléseyb.
ellem eTanr 19 -&@ SL_LMuns edlenL_Wefl&se, L. 3x3=9

Answer any three of the following questions. Question No. 19 is compulsory.

fedlarev sbwalev greursder <yeamr wofler euMFULLD eumTH
GUTILIML g 6DGYT 6T (LDS)IS.

Draw the floral diagram and write the floral formula of male flower of Ricinus

communis.
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16. (<=1) evlenedlm (Splicing) erarliL(heug wirg ?

17.

18.

19.

(<=),) SpsaarT eler LTHDSSTE® 2 (HeuTsSw QUMb sefler LLI6TSamerT 6T (LPFIs.
e LILIGSTS 6T
1) Q&L JCurmen -
(2) Qe dlwsSler -
() Grafler sHLLITETSHET -
(a) What is splicing ?
(b) Complete the following table of genetically engineered products.
Products Function
(1) Interferon

(2) Interleukin
(3)  Renin inhibitors

sPHH wLOHMD FPHFuler el urevulsraThisEEsE QoL Guw o drer
Ceupmenoaer erCaseID eLpemdlena 6T (LpGis.
Write any three differences between cyclic and non-cyclic photophosphorylation.

gl Carsesuier Curg O, CeualliL(BE DG erarTLFMmeT <y, Wlellen epeaLd
leuf&saib.

Explain the experiment to demonstrate that oxygen is evolved during photosynthesis.

&G Qar@ssiul_(Herer greursdler

(1)
(2)
®)

(1) Cwruller QUwenT 6T(Lps)s.

2)  Grryulflufer Cuwir ubdl GOl 6T(pgis.
(3) sSHULY (WPMESEET 6T (LHG)S.

I

dentify the following from the diagram given below :

Name the disease of the plant.
Give a note on the causative pathogen.
Its control measures.

https-fbyjus.com



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

@ewUs
7 1327 (NP)
Slfley - IV / SECTION - IV
Epssramid ellammés@ns@ eflanweflssa]b. 2x5=10

Answer the following questions :
20. (=) QuBSD LHHID ANOSST EUMSLILTLIG 60 (PSS L L_aINERTENIL 6T (LS.
360605

(<) vsamsren CLICr L sraursder @eamemlil GFweuUTLiqenen
aNeuflésaib.

(a) Write the outline classification of Bentham and Hooker.
OR

(b)  Explain the coupling aspect in Lathyrus odoratus.

21. (™) (i) &FoUTE FFE GTETMITED GTETET ?

(i) srrCureranl Cri(h wHMID STHOOT FeuTsSHer Heurg Fey -

eNlemd@s.
360605
(<) sriGurenan _ Crl&@héE@ PSATWLWTE JSTFOTS 6 6mnk @b
sreursslen CUTmETTSIT (PESLSSHEUSNS 6T (SIS,
(@) () What is respiratory quotient ?

(i) Work out the respiratory quotient of a carbohydrate and that of anaerobic
respiration.

OR

(b) Write the economic importance of the plant which is the chief source of
carbohydrates.
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u@S - 11 (2ulfl-eflevorluiev) / PART - II (BIO-ZOOLOGY)
(wduiCuerser : 35) / (Marks : 35)
Slfley - I/ SECTION - I
@y : () ewesIsg cHamssErsEh el wafldsa]L. 8x1=8
i) OarGassiul(hearer wrHm elevLsaled W&HeD HL LW

evLevwd CasrpbgshEssE GMuILBHLer eleLulamarnyb Caisg)
CT(LPSEYLD.

Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.

1. Speummaiaraupmier ovg GOUAGH satenwwnn CrTU STl Lb
2 @TEPLWIHD) UTEH WD ?
(=1) NK Qgevsar, eneurev CasmpmienLw GFesdr g GeweLi(hige
(<) B -eflbCumrens_(h&emmed ,euriq LM &er 2 Hugd ClelwuliLbhse
(@) wrsCrm.Guhser CrTuS(HLSSE, erdlrms CFweL{Hseo
(r) Haaidsd SoLps QLsHd Ceaudu slsmel CQur@mearser
Geueml Cuimiged
Which one of the following is not a true statement regarding innate immunity ?
(a) Action of NK cells against virus injected cells
(b) Production of antibodies by B-lymphocytes
(c) Action of macrophages against pathogens
(d) Release of chemical alarms at the site of inflammation

2. 2 osarmeilwu Geulil o wireliH@ STrenTbd :
(=) QubenssE erdlrrer welss GlFwuUTHSET
(<) elm@ser HMID Sreurhisefler =iley
(@) wenlp GULWTENLD
() gGamen LSS CLTESH0
Global warming is caused due to :
(a) human activities against nature
b) extinction of animals and plants

(
(c) lack of rainfall
(

d) presence of a hole in ozone layer

https-fbyjus.com
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3. &peumeuareupmier erg sw Crmis®Hly Sewliys Gampur® Gord ?

(=) ewwrevdailwur drredlen (<=4,) erial_ev
(8) Bigey (FF) USSEUTHLD
Which one of the following is an auto immune disease ?
(a) Myasthenia gravis (b) AIDS

(c) Diabetes (d) Stroke

4. Bd Briige @erid gepapermudlert, QUHCHIT LOHMID HETHEHES PHENSW
QupCprir gemeepulearany el s L& H snienoufLem &mewrliul( -
glempent. QsM@ STrenTd, CFTLThHg LwerUhb 2 mitil] Splitenl 56 <y, @Lb.
Qs efludbeg :

(=) e Laimitiy wwerur® ubhdlu eqgl
() tereipp ApLGsseD Sper

(@) Qupenss Csirey Camum

(FF) Qup LT FLL LIeRTLITSe)

In our country, younger generation is more intelligent than parental and grand parental
generations. This is due to constant use of brain with better development. This refers
to:

(a)
b) Over production
)

(
(c
(

d) Inheritance of acquired characters

Law of use and disuse

Natural selection theory

5. @rss Aeuliugnissener Bid@h Seul :
(=1) Capwibev Slyeuld (<) GEB&ECsTeL Flreld
(@) Ligev dlreld (/) Lmiger Slyeuld
RBC diluting fluid is called :

(a) Hayem's solution (b) Glucose solution

()  Turk's solution (d) Toisson solution
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6. QUTMHSHIS.
(1)  WermevComg D ooLimedGLIFLD i) &TeT FTT
(2)  eevCuweflwur CLmearmerefl (i) Gsmed evGoaiwmdlev
B)  wiuuGermCaror GCabldweren (i) omedl&emerrl Ol TFlwien
()  SevGweaflwr grmissr (v) <»U9fss grés ewrd
(1) () - (2)- @)  ©)-Gv) @)-0
(<) (@) - -G -0 @ -a)
(&) ( 111) -0 ©-@v) @-a6
(W) M- @-0 O-6 @-@
Match the following :
(1) Plasmodium falciparum (i) Causes Kala Azar
(2) Leishmania donovani (ii) Skin Leishmaniasis
(3) Trypanosoma gambiens (iii) Malignant Tertian
(4) Leishmania tropica (iv) Causes African Sleeping Sickness
@ @O-G@ -3 @)-G) @)-a0
b) @O-Gv) @-@ G)-@0  @)-()
© @O-G) @-60 ©->Gv) @)-x>)
d @O-6) @-60 -G @)-dv)

7.  &Cermmedled srartliLHb Corgs eugsl (Hb edlensuler jeTe, :
(<1) 75 0.8, Hg (<4) 80 .18, Hg
(@) 25 18.15. Hg (/F) 50 0.8, Hg
Net filtration force which is responsible for the filtration in glomerulus is :
(a) 75 mm Hg (b) 80 mm Hg
() 25mm Hg (d) 50 mm Hg

8. Wermeviom GlFevgeT pHMlayd @eemabluamred erpu(ieg :
(<=1) Svl¥lefab (<) seor&blwur
(@) gsrwrEGermyeieflusiwm () &S fleurer Camrens
Total absence of plasma cell causes :
(a) Albinism (b) Thalassemia
(c) Agammaglobulinemia (d) Sickle Cell Anemia

A
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11 1327 (NP)
Slfley - II / SECTION - II

Epsaranid alamssaildy CseID Bren(E elammEs@hs@ alanwafldEsea,b.
Answer any four questions. 4x2=8
asCrmrgselCamadlen, o L6 erenl @Genms a6 GG jenL Wl ? ereueumm ?
Thyrotoxicosis is always associated with weight loss. How ?

sreorreilen M@GHSET Wrene ?

What are the symptoms of Cholera ?

ST oELIMEE GV - U TILMISEHELD.

Define - Anaphylaxis.

@ CHTUDHD HOLOTET STOBMLENII cTeUeUT SerLMHleumul ?

How will you identify a healthy cattle ?

anrig eienGuié gwearur® @wm (uflu 2 ulflarg Gsras @l LsHnCs

QurmBEID. QeusiiSuler smESHW @pHlenasmeT 6T(LPFIs.
Hardy-Weinberg equilibrium is applicable to large population only. Write its theoretical
situations.

2 ogerredl 2 udflul ueuamEeL LTHSTULS S L BIGMmeT 6T (LS.
Write the international bio-diversity conservation strategies.

Slfley - IIT / SECTION - III
Epsaramid alammssafier CHEID epenm cHlaTTEsERE@ eflanLwiefl&EseyLb.
<iSled el erenr 19 -8@ HL_LMuULNS 6lenL_iefl&se]|b. 3x3=9
Answer any three questions. Question number 19 is compulsory.
(=) emeulLLblenr A Genmum_Lmed eu(hd CHmgSeT wreneu ?
(=) Qr5S 2 ODSNEHE STTETLOTET eneUL L LOI6T WTg ?
(
(

a) What are the deficiency diseases of vitamin A ?

b) Name the vitamin responsible for the clotting of blood.

weflg seamanfler Herbloul (H CosmHmSMmS LILD aueanrhgl LMEnhIGMar @GDl&se, L.
Draw the diagram of Human Eye (V.S) and label the parts.

<y &rlg LIy Seflerr (psdlu Lentlser wrened ?

What are the main functions of antibodies ?

[ Sl / Turn over
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18. ¢Gamen @plidenmmed gHLBID edleanereyser wWrenal ?
What are the effects of ozone depletion ?

19. @nlurelle, Qeuetener Glewsammier Qears Gamplser Lsp Cubmeneu. erem ?
In India, white leghorn breed of fowl is the most popular. Why ?

Slfley - IV / SECTION - IV
SMETSF| NaTTESEHEGD allen_ieT&se L. 2x5=10
Answer the following questions :

20. md Brige, Gerom Crri updlw SPlliarTey wasaflen Cu dlaigs)
ML gmed, Sjeurger urdlliLen_aidldame. Y amed, QsrHmGrmi jdrs
Crmuser Caremm <4ribldsg el Lar. Wans Qrss i(PSSHD SeUaITDIeT 6(
Crrl. Qr$s AH(PSSSMS TelaUTM AETESOTD WHMD Wens QNrHs
Sl(pSsSdlen allenereyser LM 6T(LHFIs.

S|V
2005 - 1b pariged Comemdlu L8l GLreneuderme (Fermidl) B BT iq6 LT
o Wiflppseart. 9Ggs Cauamer HlaCarurt el audlss wasaflen G Hs
@l Qeme. AsCal, QuUbams, AbS ASeirslgmer QB 2 &ld eumyp
Carpsbhsgieararg. uflammn euetréfuider Lg Hnvdlerd Cerarmelsn s,
Qunens Cgimey ereueurm e SHeNTE LweTUHEDSG cremiensd 6Sle6rd@s.
In our country, people are aware of communicable diseases. So they are not affected

by them. But non-communicable diseases start emerging now. Hypertension is one of
such diseases. How will you measure blood pressure and write the consequences of

hypertension.
OR

In 2005, due to tsunami, most of the people died in our country. At the same time there
was not much death in Nicobar islands. So, nature selected those tribes to survive.
Explain how natural selection is the tool for evolution of new species ?

21.  ursleflw wr9we uHMl 6T (Pss.
S|V
&L Crm srgCurdlymd updl SL(Herr cuenrs.
Explain Bacterial Genetics.
OR

Write an essay on Electrocardiogram.

-00o0-
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